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Q1) fv arw 3=t 5,8,7,5,2,06 3N 1
mmmwamm
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( The largest 8-digit number that can be
formed from the given digits 5,8,7,5,2,0,6

and 1 is-)

%l@ 6“%0 (A) 88765210
(C) 88765521

(B) 87765210

(D) 87655210
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(YO0 Po
3.003 x 15 + 0.0173 + 5.002575 &

I FlA W HTAT &-
(Slmmeg3003x15+oo

5.002575 give
% 10 45 NVS 2021)
~ (1) 48
s+ : (2) 49
3) 50
(4) 51
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@ (6545x 32 x 67 x 3455) ¥ IOTTH &
s 2

S EEEFINFE

('[hEin the MOf (6545 x

32 x 67 x 3455) is-)

2X2AX)xS (1) 7
| 19X35 | (2) 4
OXS = Q (3) 2

(a) 0
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Q.OTF e ad 2 ol e e &, A
(A)W'ﬁmmragrﬁa’rﬁrm

024)9
(B) T & WEAT (A T g | ueT & AT %
%mﬁm,a&’fa’lm, q_3er 7 B Y qom fRam

(D) 39 ¥ #alvrrﬁmm
A fraction the same or equivalent if:

(A) Same number should be added to numerator and
denominator

(B) The same number should be subtracted from the numerator
and denominator.

(C) The numerator and denominator are multiplied by the same

number, except zero.
(D) It should be multiplied by its reciprocal.
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=fEa J T AT 6500°%

T
o o SR 7R00.s
‘ , I 34 AR 7300c%,
_ H a9 fear gﬁ%’ 3R frdet
ol X650 gId1? (A man purchased a machine for Rs
6500 and later sold it at a profit of Rs 650. If
he had sold the machine for Rs 7500, how
much more’profit would he have made?)

f\
Q.5 — = 350 %.
< oo (:(;I)zso 3.

_Js00 RS R (3) 1000 .
—r——,‘ﬁ?, (4) 500 .
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evirncter of syt o
P T @ Bsom = s, (A)108m
= W;? ATP@ ¢( §<’\AQ\(Q: "S}'l:\ | (C) 104 m
739 = ¥R \g) 112 m
T = )™ ) 116 m
-
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Q.8 GCalk: ;) F AEgR dF & TAh
] [ H[S TEY]_c2lls %ﬁ?
:& lc{TIEEi) .
Eligzll hH i -
2= (Day) (,?—,%_L. 22 rﬁm) om“"“‘

=TT (Monday) OSSO0 O

HTErETT (Tuesday) OOCOOOOO O
JUATT (Wednesday) oNoNoNoNoRoNO ‘
TEAT (Thursday) 'oNoRoNoNoRoNoNoN oo\
AT (Friday) OCOOO0O Jo0

| 00006 s

Aw,3ooamaﬁ'q{ B) HITIAR, 400 &H HSIl, |
&)’ dhar, 200 HFH =fsAT {_(,)Drarﬁan 500 H# TSI
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5 .
Q.9 An angle is one third of rigcﬁt angle.

Find its(omple ment.

TF FIT AR F TF RS T
WLW@WWI
@BX—’ _?)Q %0

306 (B) 70°
Qo (C) 80°
(D) 50°
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29 Q.10 Which of the following number is

ST 13 not a factor of

AT TR A A FiaT € TE&AT 224 F1

2 0
e xodxnxg OO
, TA) 16
] @G tc) 28

) | ‘AB) 1
é
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